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Strona nr 2Herbata/Tea time

-DMC 3766

-DMC 3766

-DMC 3766-DMC 3766

-DMC 3766

-DMC 3766

-DMC 3766

-DMC 3766-DMC 3766



Symbol Nr nici KrzyŜyki Motki Motki Motki
2 nitki 3 nitki 6 nitek

Kanwa 1880 1 2 3

 DMC 157 270 1 1 1

 DMC 162 591 1 1 1

 DMC 312 221 1 1 1

 DMC 334 19 1 1 1

 DMC 341 68 1 1 1

 DMC 472 751 1 1 1

 DMC 744 446 1 1 1

 DMC 905 112 1 1 1

 DMC 906 1744 1 1 2

 DMC 932 162 1 1 1

 DMC 970 75 1 1 1

 DMC 3766 1247 1 1 2

 DMC B5200 894 1 1 1

Herbata/Tea time


